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Instructions : (1) Attempt any two questions out of Q. No. 1to 4 in Section-I.
(2) Question Nd. 5 in Section-II is Compulsory.

SECTION -1
1.  Following labour mix had been provided in the budget to produce one unit of a product : 20
Workers Standard Hours  Standard Rate (in )
Men 6 3.50
Women 9 1.00

Details about actual performance and work-force were as follows.

Actual production was 2,000 units :

Workers Actual Hours Actual Rate (in X)
Men 11,000 4.00
Women 20,000 0.80

Compute the following variances :
(1) Labour cost variance
(2) Labour rate variance

(3) Labour efficiency variance

(4) Labour mix variance.
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The details of overheads of Isha Ltd. for January-2022 are as follows :

20

Particulars Standard Actual
Working days 25 26
Standard time per unit 10 hours it
Actual time worked Se—— 66,000 hours
Production in units 6,000 6,300
Fixed overheads 60,000 72,000

Calculate following fixed overheads variances :
(1) Fixed overhead cost variance

(2) Expenditure (Budget) variance
(3)-,..Molume variance

(4) Efficiency variance

(5) Calendar variance

3. One Company gives the following information : 20
Selling Price per unit ¥ 8 Variable cost pér unit ¥ 5
Total Fixed Cost ¥ 60,000 Total Sales< 30,000 Units
You are required to calculate :-
(1) Profit Volume Ratio (2) ~ Break-even point
(3) Safety Margin (4) Required Sales to get profit of ¥ 2 per unit
(3) Find out new selling price when Break-even point is 15,000 units.
4.  Yesha Limited considering two projects for new investment following information is
given for projects : 20
Particulars Project— A  Project-B
Initial Investment < 40,000 < 50,000
Estimated Life 4 years 5 years
Tax rate 30% 50%
Rate of return on Investment 10% 10%
Profit Before Depreciation & Tax :
Year 4 7
1 12,000 14,000
2 14,000 16,000
3 16,000 18,000
4 22,000 22,000
5 et 20,000
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Select best project on the following methods :
(I) Pay back period method

(2) Average rate of return method

(3) Net present value method

(4) Profitability index method.

Note : Present value of ¥ 1 at 10% discount rate are as follows :

Year - 1 2 3 4 5
Present value 0.909 0.826 0.751 0.683 0.621
SECTION - 11
5.  From the following sub-questions more than one answer are given out of which find
out correct answer. You are required to show necessary calculations. (any five) 10
(1) If Material sub-usage variance is ¥ -200(A), then Material yield variance 1s __.
(A) < -400(0) (B) < -100(U)
(C) < 200(F) (D). 3-200(1J)

(2) Standard costing is the preparation of standard cests and their comparison with

and the analysis of

(A) Marginal costs, Variances ~ (B) Variances, Marginal costs
(C) Actual costs, Variances (D) Variances, Actual costs
(3) Material Cost Variance consists of adverse material usage variance and

favourable material price variance could suggest that :

(A) We are using less material than expected but in total we are paying more

than we should.

(B) . We are paying less for our materials than expected but we are using more

materials than expected.
(C)  We are paying higher prices for our materials than expected.

(D) “We are paying the same for our materials but we are using more materials

than expected.
(4) When actual selling price is higher or lower than the standard selling price, then it

1S :
(&) Sales margin price variance (B) Sales mix variance
(C) Sales volume variance (D) Sales price variance
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(5) Capital Budgeting Decisions are
(A) Reversible . (B) Irreversible
(C) Unimportant (B)Y" All of the above
(6) While evaluating capital investment proposals, the time value of money i1s

considered in case of-

(A) Pay-back period method  (B) Discounted Cash flow method
(C) ARR Method (D) None of these
(7) What is Cash Flow in connection with capital budgeting ?
(A) Profit before depreciation and tax.
(B) Profit after depreciation and tax.
(C) Profit after depreciation but before tax.
(D) Profit before depreciation and after tax.
(8) Contribution received at Break-Even Point (BEP) =
(A) Total Fixed Cost (B) Total Variable Cost
(C) Total Profit (D).~ Total Loss |
(9) Contribution = .
(A) Sales — Variable cost
(B) Sales at BEP x Profitvolume ratio
(C) Fixed costs + Profits
(D) All of the above
~(10) Which of the following formula is correct, to find out the profit ?
(A) Profit=Sales — Variable Cost
(B) Profit= Sales at Breakeven point x Profit Volume Ratio
(C) Profit=Margin of Safety x Profit Volume Ratio
(D) None of the above
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(2) Question No. 5 in Section-II is Compulsory.

[Max. Marks : S0

Instructions : (1) Attempt any two questions out of Q. No. 1 to 4 in Section-1.

SECTION -1
Following labour mix had been provided in the budget to produce one unit of a product : 20
Workers Standard Hours  Standard Rate (in <)
Men 6 3.50
Women 9 1.00

Details about actual performance and work-force were as follows :
Actual production was 2,000 units :

Workers ActualHours Actual Rate (in X)
Men 11,000 4.00
Women 20,000 0.80

Compute the following variances.:
(1) Labour cost variance

(2) Labour rate variance

(3) Labour efficiency variance

(4) Labour mix variance.

The details of overheads of Isha Ltd. for January-2022 are as follows :

Particular Standard Actual
Working days 29 26
Standard time per unit 10 hours
Actual time worked —_ 66,000 hours
Production in units 6,000 6,300
Fixed overheads 60,000 72,000

AL-104 13
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Calculate fixed overheads variances :
(1) Fixed overhead cost variance
(2) Expenditure (Budget) variance
(3) Volume variance

(4) Efficiency variance

(5) Calendar variance

capital by < 4,00,000 during the life of project.
As a result of project, sales will increase every year by ¥ 10,00,000. Yearly cash
expenses of X 3,00,000 will be incurred during five year life of project.

Depreciation is provided on straight line method. Rate of taxation is 50%. Determine

Internal Rate of Return of the project.

Ved Ltd. decides to invest ¥ 8,00,000 in a project. Company has to increase its'working

20

Present value of ¥ 1 for first five years at different discount rate are as under :

Year 20% discount | 25% discount | 30% discount
rate rate rate

1
2
3
4
S

0.800
0.640
0.512
0.410
0,328

0.769
0.592
0.455
0.350
0.269

4. Yesha Limited considering two projects for new investment following information is

given for projects :
Particulars

Initial Investment

Estimated Life

Tax rate

Rate of return on Investment

Profit Before Depreciation & Tax :

Year
1

hh L W N

AL-104
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Project— A  Project—B
< 40,000
4 years

50%
10%

12,000
14,000

16,000
22,000

< 50,000
d years
50%
10%

14,000
16,000

18,000
22,000
20,000



Select best project on the following methods :
() Pay back period method

(2) Average rate of return method

(3) Net present value method

(4) Profitability index method.

Note : Present value of ¥ 1 at 10% discount rate are as follows.

Year 1 2 3 4 S

Present value 0.909 0.826 0.751 0.683 0.621
SECTION -11

From the following sub-questions more than one answer are given out of which find

out correct answer. You are required to show necessary calculations. (any five)

(1)

2)

(3

(4)

(%)

AL-104

If Material sub-usage variance is ¥ -200(A), then Material yield variance is ___
(A) T -400(U) (B) % -100(U)

(C) < 200(F) (D) -200(U) ‘

Standard costing is the preparation of standard costs and their comparison with
___._and the analysis of
(A) Marginal costs, Variances (B) Variances, Marginal costs

(C) Actual costs, Variances (D) Variances, Actual costs

Material Cost Variance consists of adverse material usage variance and

favourable material price variance could suggest that :
(A) We are using less material than expected but in total we are paying more

than we should.
(B) We are paying less for our materials than expected but we are using more

materials than expected. . |
(C) We are paying higher prices for our materials than expected.
(D) | We are paying the same for our materials but we are using more materials

than expected.
When actual selling price is higher or lower than the standard selling price, then it

is :

(A) Sales margin price variance (B) Sales mix variance
(C) Sales volume variance (D) Sales price variance
Capital Budgeting Decisions are :

(A) Reversible (B) Irreversible

(C) Unimportant (D) All of the above

10
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(6) While evaluating capital investment proposals, the time value of money is
considered in case of-

(A) Pay-back period method (B) Discounted Cash flow method
(C) ARR Method (D) None of these
(7) What is Cash Flow in connection with capital budgeting ?
(A) Profit before depreciation and tax.
(B) Profit after depreciation and tax.
(C) Profit after depreciation but before tax.
(D) Profit before depreciation and after tax.

(8) As per concept of "Time Value of Money" the value of money
(A) 1s higher in earlier years than in later years.
(B) 1sequal in all the years.
(C) 1s higher in later years than'in earlier years.
(D) None of the above.

(9) Given an investment of ¥ 10,000 for a period of one year, it is better to invest in a
scheme that pays :

(A) 12% interest compounded daily.
(B) 12% interest compounded monthly.
(C) 12% interest compounded quarterly.
(D) 12% interest compounded annually.
(10) If the nominal rate of interest is 10% per annum and there is quarterly
compounding, the effective rate of interest will be :
(A) 10% per annum (B) 10.10% per annum
(C) 10.25% per annum (D) 10.38% per annum
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